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21.	� Peanut Polakowski had 28 wrestling  
matches against marmots. He had 10  
wins and 18 losses. How many more  
losses did Peanut have than wins?

18 – 10 = ______
Peanut had ______ more losses than wins.
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22.	� Chef Cheneille of the famous Meat Lovers Bakery is making her famous 
brownies. She made 22 turkey-flavored brownies and 18 salmon-flavored 
brownies. What is the difference between the number of brownies?

22 – 18 = ______
The difference between the number of brownies is ______.
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23.	� Nelson Noitall took out 17 books and 9 videos from the library.  
He planned to read all the books and watch all the videos by midnight. 
How many more books did he take out than videos?

17 – 9 = ______
Nelson took out ______ more books than videos.
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24.	� On an interplanetary tour, 65 Martians and 37 
Venusians visited New York’s Times Square,  
where they easily blended in. How many  
more Martians were there than Venusians?

65 – 37 = ______
There were ______ more Martians than Venusians. 




